[image: ]

CBT Sample assessment model answers

Business Tax (BSTX) FA2016
Sample assessment 1


Task 1 (10 marks)
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 Task 1, continued
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Task 2 (10 marks)
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Task 3 (13 marks)

[image: ]15/12 x £200,000 = £250,000




Task 3, continued
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Task 4 (6 marks)

[image: ]


Task 4, continued
[image: ][image: ]
Task 5 (9 marks)
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Task 5, continued
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Task 6 (7 marks)
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Task 7 (8 marks)
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Task 8 (5 marks)
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Task 9 (14 marks)
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Task 9, continued
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Task 10 (8 marks)
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Task 11 (10 marks)
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(a) Show the division of profit for the year ended 31 March 2017. If your answer is zero, enter 0.
Round your answer to the nearest pound if appropriate. @marks)

To 31 July 2016

Share of profits 17865 5985

From 1 August 2016

Interest on capital 300 80
salary 5000 3000
Share of profits 24859 13301

(b) Calculate Pat's National Insurance contributions (NIC) for 2016/17.
Your answer should be to the nearest penny. If your answer is zero, enter 0. (2 marks)

Class 2 14560

Class 4319% 1292.04

Class 43t 2% 0
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(a) Calculate the maximum Annual Investment Allowance that Arthur can claim for the period
ended 31 March 2017, 2
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(b) Calculate the capital allowances that Arthur can claim for the period ended 31 March 2017.

General Poal General Poal General Poal Alowances
prwa 58,095 18,850
ions
10vans
0 236,050
pisposals
10vans (34,000
Jrtnurs car
24,095
[Balancing allowance 4
WDA a1 18% 15 monins (5524

[agaition

[arthur's new car

Fra

[Total capital allowances

lctwa

19371
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‘Arthurs car
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[10vans
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(236,00)|
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Disposals

[10vans

(34,000)]
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24,995
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(6.000)]
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[WDA 2t 18% 15 months
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[adaition

[Arthurs new car

20750

Fra

(29.750)|
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[Total capital allowances
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ctwa
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Tax calculation
Turnover

Total tumover from trade 1,400,250

2] Banks, building societies, insurance companies and other financial concerns -
put an X in this box f you do not have a recognised tumover and have not made
an entry in box 145

Income

[ Trading profits 500,250
[ Trading losses brought forward claimed against profits 500,350
[T Net trading profits - box 155 minus box 160 o

Bank, building society or other interest, and profits

from non-trading loan relationships

[EEPut an X in box 172 if the figure in box 170 is net of
carrying back a deficit from a later accounting period

[EB Annual payments not otherwise charged to Corporation Tax

and from which Income Tax has not been deducted
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Chargeable gains

Gross chargeable gains

FI Allowable losses including losses brought forward

Net chargeable gains - box 210 minus box 215

Profits before deductions and reliefs

BT Losses brought forward against certain investment income

Non-trade deficits on loan relationships (including interest)
and derivative contracts (finandial instruments)
brought forward

[ Profits before other deductions and reliefs - net sum of
boxes 165 to 205 and 220 minus sum of boxes 225 and 230

28,890

28,890

114,640
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Income continued

2] Non-exempt dividends or distributions from
non-UK resident companies
Income from which Income Tax has been deducted

[ income from a property business.

on intangible fixed assets

3 Non-trading
‘Tonnage Tax profits

[ income not falling under any other heading

85,750
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(a) Calculate the apportionment of the taxable profits and charges between the two accounting
periods for the period of account to 31 December 2016. You should round your answers to the
nearest whole pound where appropriate. f your answer is zero, enter 0. (6 marks)

Accounting period ended Accounting period ended

Taxable profitor charge 30 September 2016 31 December 2016
£ £

Trading profit 190680 47870

Bank interest 2820 708

Rental income 10200 2550

Giftaid donation 0 5200

(b) Calculate the corporation tax payable by Faversham Ltd for the two accounting periods. You
should round your answers to the nearest whole pound where appropriate. (2 marks)

Accounting period ended Accounting period ended

30 September 2016, 31 December 2016
£ £

Corporation tax payable
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Whitstable Ltd is a trading company and had an accounting loss for the year ended 31 January 2017 of
£(48,950).

The loss was calculated after a dspreciation charge forthe year of £12.750.

(€) Calculate Whitstable Ltd's taxable trading loss for the year ended 31 January 2017. Do not use.
brackets or minus signs. (1 mark)

Year ended
31 January 2017

£

Taxable trading loss.
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(a) Complete the following payment schedule, showing dates and amounts due, that Margi will pay
in the calendar year 2017. Complete the dates for the basis periods by selecting a day from
each calendar window and entering the year in the format YYYY (e.g. 2017) n the adjoining

boxes. (6 marks

Payment

Taxable year Payment day P30 Payment type

20152016 M 3tJanTE] Lo Balancing payment [l o
20162017 |l 31Jan .( 2017 First paymenton account |8l 5o
20162017 |l 310ul -( 2017 | Second payment on account [ o

Greyston Ltd has an accounting year end of 31 March 2017

(b) Complete the following sentence. (1 mark)

The Iatest date for filing its CT600 corporation tax retum is [37 Tarch 2018 [ v ]
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(@) Identify whether the following statements are true or false:

Statement

An indiidual who files 3 paper self assessment return on 25 January
following the end of the tax year will incur a penalty of £100.

Tue

(6 marks)

Faise

An indiidual may amend a self assessment return up 1o one year after
the submission date, provided it was notfiled late.

Charlie's accountant has found an error in Charlie’s 2014 self
assessment return. If Charlie admits the errorto HURC, it would be
considersd an unprompted error.

Late payment penalties are only payable for ate payment of balancing
payments, not payments on account

To avoid a penalty, s company that commenced trading on 1 Septemoer
2016 should notify HIIRC it s within the Scope of corporation tax by
5 April 2017

If a company submits a CT600 for the accounting year ended 31
December 2016 on 31 August 2017, HURC must notify the company of
an enquiry by 31 December 2018

Suzie has made an unprompted disclosure to the Inland Revenue. ftwas considered 3 dslioerate but

not concealed erfor and has resulted in further tax payable of £2,000.

(b) Complete the following sentence.

(2 marks

She willincur a minimum penalty of £ [400 and a maximum penalty of of £ [1200
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Identify whether the following statements are true or false.

Statement

Traging losses can be carried forward and ofsst
againstfuture chargsable gains.

Traging losses can be carried back to be utiised in
any of the previous three years

Trading losses can be ofiset against current year
chargeable gains.

Carmying forward trading Iosses is the most
advantageous option for cash flow.

Trading losses carried forward can only be usedin the
next accounting period.

Trading losses must first be ofiset against current year
total profits before being carried back to a previous period

Traging losses are ofsst againsttotal profits in priorty
to Git Ald donations.

(5 marks
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In the spaces provided below prepare notes to help with the writing of a reply to Jason's email,

(a) Briefly summarise the intermediaries (IR35) legislation. 3

[This legisiation prevents personal senice companies (PSC") being usedto disguise permanent
employment Itis applisdiftne relationship between the worker and the client would be considersd o
e an smployment relationship ifthe existence of the PSC was ignored

\When the legislation is applied, a deemed employment income tax charge is charged on the PSC.

(b) An explanation of how income is taxed differently under IR35 legislation compared to how

Jason's income from the company is currently taxed. 3 marks}

Under IR35 legislation, the deemed employment income tax charge is subjectto income tax and
ational Insurance. This is the same as for smploymentincome but different to how most of Jason's
income is currently taxed.

Currently Jason receives a small salary of £1,000pm that s taxed as employment income. However,
most of his income s received as ividends which are not subject to national insurance.

Finally, only expenses typically tax deductivle for employees are allowable under the IR35 legislation

However a larger range of tax deductivle expenses are available to traging companies not afiected by
IR35.
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() Explain which aspects of the work suggest IR35 may apply and which suggest IR35 may NOT

apply. (7 marks)

[The following facts aoout the engagsment suggest IR35 may apply to this work as they are aspects of
the engagement that are associated with permanent employment

- Jason works fulltime for the engager and works under a contract and

- Jason has to exclusively provide the services.

The following facts about the engagsment suggest IR35 may NOT applyto this work as they are NOT
aspects of the engagementthat are associated with permanent employment

- Jason s allowsdto provids the senvices through a replacement consultant i he is off sick or on
holiday,

- Jason provides the services from his office at home, and

- Jason uses his own companys IT equipmentin providing the senices, purchased for £20,000.

(d) Reply to Jason's request for information regarding other clients’ tax returns. 1 mar

[Jas0n should be aovised that an accountant has duties and responsibilities to hisiher clients and this
incluges maintaining client confidentiality atallimes. So the firm would not be able to disclose other
client's information to third parties.
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Calculate the chargeable gain on the disposal of these assets. Do not use brackets or minus signs.

8 marks)
Painting

Proceeds 62450 31650

Total cost 38700 16650

“Total indexation 5083 a8

allowance

Gain 7787 10872
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Calculate the total chargeable gain or loss for the disposal of these shares in October 2016 and the
value of the shares carried forward after the disposal 10m

pate Transacton| No. of shares Unindered value, & Indexedvalue, £
arch 2010 Purchase 2500 125000 125,000
ori 2011 Bonus issue 0 o
3000 125000 125,000

INovember 2012 Indexation factr 0.113 14125
Righs issue 67,500 67.500)

192,500
Indexation factr 0.067
4500 192500 220,460
sale 53472
cwa 130,028

[Disposal proceeds

(Cost 10/101
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(@) In relation to the computation of taxable trading profits, link the following items to the correct
treatment by clicking on the left-hand box and then the appropriate right-hand box. You can

remove aline by clicking on it

tem

General provision for irrecoverable
debts

Donation of £1,000 to a political party

Treatment

narks

Bottles of whisky, each costing £45
with the company logo on the side
given free to customers

Disallow and deduct

Gain on sale of shares

Disallow and add back

Repairs to factory floors

Profit on sale of a lorry

Allow
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Meredith started trading on 1 February 2015, making up her first set of accounts for the 15-month period
1030 April 2016. Her adjusted trading profits were agreed as:

Period ended 30 April 2016:  £94,920
Year ended 30 April 2017:  £61,980

(b) Show the taxable profits for the second and third tax years in the table below.

‘Complete the dates for the basis periods by selecting a day from each calendar window and
entering the year in the format YYYY (e.g. 2016) n the adjoining boxes. Enter the earliest taxable

yearfirst.

6 marks)

v | Bhor %

75036

v | Way_ %

75036

() Complete the following statement:

Meredith has overtap profis of. £ 59608

(1 mark)




